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Input interpretation: -~

50
{ =" X c0s(0.261799388) + y cos(1.221730476),
2

50 _ )
—— -40 = xsin(0.261799388) + y sm11.221730476))
V2
Open code &
Result:
(252 = 0.965926 x +0.34202 y, 2512 ~40 = 0.258819 x + 0.939693 y}
Solution
x~424973, y~-16.6477
&

Plot of solution set:

-16.0
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L L L . ] =252 =0.965926 x +0.34202y
415 420 425 430 435
. _— 5(55 -8) = 0.258819 x +0.939693y
[
Alternate forms:
{y = 103.372 - 2.82418 x, y = ~0.275429 x - 4.94274}
{x+0.354085 y = 36.6025, x + 3.63069 y + 17.9456 = 0}
[

{252 = 0.965926 (x + 0.354085 ), 5 (s V2 - 8) = 0.258819 (x + 3.63069 )





